Work out the following questions in your maths book

Miss Parrant buys 28 balloons
for her friend's birthday. Each
kalloon costs $1.10. How much
money does Miss Parrant need
to buy the balloons?

Miss Parrant has 12 apples. She
shares the apples with three of
her friends. How many apples
would Miss Parrant and each of
her friends get?

The baker made 18 pies to give
to his friends and their families.
He decides to give each of his
friends 3 pies. How many
friends doe the baker have?

Miss Parrant has 239 buttons in
her button box. She uses 87 of
these buttons on arts and
crafts. How maony buttons
does Miss Parrant now have?

Miss Parront drives 17.9 kms to
get to her friend's house. They
then drive 10.9 km to pick up
aonother friend. How far does
Miss Parant drive in total to pick
up both of her friends?

3.8+7.2=
12.3+9.8=
10.9+89 =
14.3+3.8=
11.2+6.7=
49+73=

S AW

97-32=
67-43 =
82-68 =
61-98 =
37-12 =
52-18 =

S UAWN

67+92=
92 +31=
14 + 67 =
67+92 =
158 + 78 =
32+78 =

S A wWN

There are 12 cans of tomatoes
at the supermarket. Each can
costs $0.65. How much money
in total would it cost to buy all
12 cans of tomoatoes?

There are 15 lollies in a packet.
There are 5 friends, if they
share the lollies equally how
moany lollies will each of the
friends have to eat?

There are 72 cows in one
paddock. The farmer needs to
share them equally across his
9 paddocks. How many cows
will be in each paddock?

There are 81 sheep in a field,
the farmer needs to share
them equally across 9
paddocks. How many sheep wiill
e in each paddock?

Miss Parraont is going to a
birthday party. Each of her
friends decide to put money
into buying a present. They
each put in $9.80. There are 6
friends. How much money do all
6 friends have in total to buy a
birthday present?

82+73=
3.5+83=
12.3+89 =
6.7+9.7
56+93=
47+83=
10.7+7.3 =

NouhwheE

108 - 67=
15-13=
67-43 =
67-15=
72 -17=
57-32=
45-23 =

N o s wne

18 + 109 =
108 + 56 =
105+75 =
103 +93 =
104 + 145 =
76 +102 =
18 +197 =

NouhwhE




